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Examinee is directed to read carefully the following
instructions :

Examinee must write his/her Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

Besides filling in the Roll Number, the examinee has to
put his/her signature on the Answer-Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, etc. as indicated on the Answer OMR
Sheet. If these details are not filied in by the examinee,
his/her Answer Sheet will not be evaluated.

For each question, there are four alternative answers,
out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

There are 40 (37+3) pages in this Question-Booklet
including 1 page for General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

This Question Booklet contains 150 questions from
following subjects :

(1) Maths Q. Nos. 1-50

(2) Chemistry Q.Nos. 51-100

(3) Physics Q. Nos. 101 -150

Each question carries 1 mark and % mark will be
deducted for each wrong answer.

Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

During examination the examinee will not be allowed
to leave the examination hall till the END of the
Examination.
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1. Two consecutive odd positive numbers,

MATHEMATICS

such that sum of whose squares is 290,
are

A) 11,13
B) 9, 11

C) 13,15
D) 19, 17

. The value of k so that the following

system of equations 3x —y + 5 =0 and
6x ~ 2y + k = 0 has no solution is

A) k # 1
B) k=1
C) k=10
D) k = 10

. The value of k for which the lines

3x + 4y =5 and 5x + 4y = 4 and
kx + 4y = 6 meet at a point is

A) 1
B) 2
C) 3
D) 4

. Which of the following cannot be the

difference between a two digit number
and the number obtained

by interchanging the digits ?

A) 72

B) 36

C) 54

D) 48 D) 48

nifvre

1. 3 AR fovw geTers sEaTd 39 wahw &
T2 37a ot =61 97 290 B, < 97 HEAnd &

A) 11,13
B) 9, 11

C) 13,15
D) 19, 17

2. k1 8 " s fore gfteor

3X—-y+5=03R6x—-2y+ k=0
SUITEAT T 1S & 4 8

A) k =1

B) k=1

C) k=10

D) k = 10

3. k=1 a8 w1 foraeh fera {@md 3x + 4y = 5,

5x + 4y = 4 A kx + 4y = 6 T & foig
R et &

A) 1

B) 2

C) 3

D) 4

4. Feafafaa 4 3 S 1w 3 3w 6 ge

3 3l 1 T g # ST & Ty
o1 wEa & < 1 ST TE 8 T ?
A) 72

B) 36

C) 54
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| 5. If AABC is right angled at C, then the
value of cos (A + B) is

A) 1
B) O
]
<) 5
J3

D)—z'

6. If secA + tanA = x, then tanA =
2
A %
1
B ——
) 2X
x? -1
2X

2X
x? —1

C)

D)

7. lf sin@'= /3 cos6, 0 < 6 < 90°, then 6
is equal to

A) 30°
B) 45°
C) 60°
D) 90°

8. Iftan®0 + cot?0 = 2, 9 is an acute
angle, then tan3@ + cot® is equal to

A) 2
B) 3
C) 4

5. 9fe AABC, C W GHehIf14 &,
A cos (A + B) UM §
A) 1
B) 0
1
C) E

J3
D)?

6. Afe secA + tanA = x &, @l tanA =

A %

B) —

C)

7. A sin@ = /3 cosh, 0 <O < 90°8,

o=
A) 30°
B) 45°
C) 60°
D) 90°

8. 4f< tan?0 + cot?0 = 2, 6 T =T IV &,
al tan%0 + cot®0 =

A) 2
B) 3
C) 4

D) 8 D) 8
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9. 2 men and 7 boys can do a piece of
work in 4 days. 4 men and 4 boys can
do the same work in 3 days. Then

the number of days a boy takes to
complete the same job is

A) 50 days
B) 60 days
C) 30 days
D) 55 days

10. In an examination, one mark is awarded
for every correct answer, while % mark
is deducted for every wrong answer.
If a student gets 90 marks by answering
120 questions then how many questions
did she answer correctly ?

A) 96

B) 100

C) 90

D) 95

i a® b?

11, lf x=a sin 6, y = b tan 0, then -X—Z-—F=
A) 0

B) 1

C) -1

1
D)E

12. Sides of 2 similar triangles are in the
ratio 3 ::7. Areas of these triangles are
in the ratio

A) 9:35
B) 9:49
C) 49:9
D) 9:42

Page No. 5
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A) 96
B) 100
C) 90
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b2

2
11. adRx=asin@,y=btane, L 2
Xy

A) O
B) 1
C) -1

1
D) 5
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3 Byt o &rhet @ STgaTa 9 BT 7
A) 9:35
B) 9:49
C) 49:9
D) 9:42
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13.

14.

185.

16.

17.

The pair of linesy =0 and y = -7 has
A) No solution

B) One solution

C) Infinitely many solutions

D) Two solutions

If x + 3is afactorof x3 + ax2—bx + 6
and a + b = 7 then the values of a and
b are respectively

A) 1,6
B) 0,7
C) 0,-7
D) 2,5

if x—y =0and 2x —y = 2 then values
of xand y are

A) 3,3
B) 2,2
C) -2, -2
D) -3, -3

The value of k for which the system of
equations 2x -3y =1 and kx + 5y =7
have a unique solution, is

A) k=1
B) k#10

-10
k#—
C) 3

D) any real value of k

A quadratic polynomial whose zeroes
are3and -5 is

13.

14.

15.

16.

17.

Wy =03Ny=-7FFHH
A) =iE g T §

B) TH & ©

C) sFasa s

D) Siga &

I X% + ax2 — bx + 6 F TFH PAES X + 3 &
WMa+b=7%,Aalb Fum s &
A) 1,6
B) 0,7
C) 0,-7
D) 2,5

A x—y=03M2x—y=2%, dt x 3l
y%ﬂﬂ%

A) 3,3

B) 2,2

C) -2, -2

D) -3,-3

k =1 9% A foraes fove wefiestor 2x — 3y = 1
3R kx + 5y = 7 6 yureht F1 @ Afda
& B

A) kz1
B) k<10

C) k¢i(—)

3
D) k 1 I3 ar<ifersh qH |

e TRt agudia fos s 3 o -5 8,
Eikd

A) x*+2x—-15 A) x*+2x—-15
B) x2-2x+ 15 B) x2-2x+ 15
C) x*-8x+ 15 C) x2—8x+ 15
D) x?+8x-15 D) x2+8x-15

Page No. 6
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18.

19.

In a flower bed, there are 23 rose plants
in the first row, 21 in the second, 19 in
the third and so on. There are 5 rose
plants in the last row. Then the number
of rows in the flower bed is

A) 15
B) 18
C) 10
D) 9

The sum of the reciprocals of
Ms. Sonu’s ages (in years) 3 years

ago and 5 years later from now is 1
Then Sonu’s present age is

A) 5
B) 7

- C)8

20.

21.

D) 9

A motor boat whose speed is 18 km/h
in still water takes 1. hour more to go
24 km upstreamthan to retumn downstream
to the same spot. The speed of the
stream is

A) 6 km/h
B) 7 km/h

C) 10 km/h
D) 24 km/h

Value of k if the 2 roots of the quadratic
equation kx(x — 2) + 6 = 0 are equal, is

A) 5
B) 6
C) 10
D) 1

Page No. 7

18.

19.

20.

21.

U T A 7, o Ui 6 23 e & e
&, 21 @R E, fedufRid 198 i
et wehr T oft §1 <ifew W § 5 e
F N &, ot o0 A A R i v g
A) 15
B) 18
C) 10
D) 9

gdam @ o ad qd ot 5 af wEq
%. Qi % 3y (It ) 3 g A
1 &, o oy 8

A) 5
B) 7
C) 8
D) 9

e AreR dre frgeh v S ° fa 18
et /H2T R, 8 GHI T W O & 91
24 5 . 9 & e T At 2, 388 1
He1 3t o & faadia ame o § St
Qauhnfag

A) 6 fh.5t. faen

B) 7 .4t /g

C) 10 f.Hft. /uer

D) 24 f& 1. /g

Ife feeh gt kx(x —2) + 6 =0
3 g G99 &, A k FTAE &

A) 5

B) 6

C) 10

D) 1
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22,

23.

24,

25.

Which of the following is incorrect ? 22. Fafafaa d @ S7-a1 s 2 7
A) tan6=3 A) tang =3
B) sin6=3 B) sin6 =3
C) sec6=3 C) sec6=3
D) coto =3 D) coto =3
If sin (A ~ B) = % cos (A + B) = % 23. 7 sin (A—B) = % cos (A + B) = %
then values of A, B are respectively 2, @ A 3 B %1 1 s §
A) 15°,15° A) 15°, 15°
B) 30°, 0° B) 30°, 0°
C) 45°, 15° C) 45°, 15°
D) 15°, 45° D) 15°, 45°
If cos6 + sind = /2 cose then 24. If¢ coso + sind = /3 cose ¥, A
cos0 - sind = cos0 —sind =
A) 2 cose A) V2 cose
B) J2sing B) /25sin@
C)o C)o
D) 1 D) 1
If tan@ = 7, , then the value of 25. af} tan@ = % 8, ﬁz
i)y | (o

3 sin6 - 4 cosO
A) 312 A) 312
B) 302 B) 302
C) 172 C) 172
D) 72 D) 72

1 PECE




26. The arithmetic mean of a set of 40 values
is 65. If the 40 values is increased by 5,

then the mean of the new set of values
is

A) 65
B) 70
C) 60
D) can't be determined

27. The sum of the deviations of the
variate values 3, 4, 6, 7, 8, 14 from
their mean is

A) 1
B) 2
C) 0
D) 10

28. Valueoftan 1°tan2°tan 3°. . . .. tan 89°is
A)O
B) 1
C) 89
D) 1x2x.... 89

29. A quadratic polynomial whose one zero
is — 5 and the product of the zeroes
is 0, is
A) x2 + 5x
B) x?-5x
C) x®+5x+5
D) x2-5x + 1

30. The value of m so that 4x2 — 6x — m is
divisible by x - 3, is exact divisor of

A) 9
B) 45
C) 20

D) 36 D) 36
B Page No. 9

26. 40 WH % TF GY== H G T 65 2 |
MR 40 7T Y 5@ wet R W, 9 AE %
¢ By 1 ATey B
A) 65
B) 70
C) 60
D) T 7 e < wepar

27. fAm w3, 4,6, 7, 8, 14 ¥ fraai =
3% Tl | i
A) 1
B) 2
C)o
D) 10

28. tan1°tan2°tan 3°. .. .. tan 89°F1 A &
A) 0
B) 1
C) 89

29. o1 0 ¥ - 5 % iyt w1 o
0 ?, 7% fiumh sgudia &
A) x2 +5x
B) x2 - 5x
C) X2+5x+5
D) x2—5x + 1

30. m &1 38 9 s 3T 4%2 — 6x ~ m
W x — 3 ¥ o i w1 o%; @ 97
T qOF STTTeh 2 |
A) 9
B) 45
C) 20

/1 PECE
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31.

32.

33.

The area of a quadrant of a circle whose
circumference is 22 cm, is (in cm?)

A) 7
8

B) 70
C) 100
D) 11

In the figure

and TQ are two tangents to a circle
with centre O, |POQ =110°, then
PTQ=

A) 60°
B) 70°
C) 80°
D) 90°

The angle of elevation of the top of a
tower from a point on the ground, which
is 30 m away from the foot of the tower,
is 30°. Then the height of the tower is,
(in metre)

10

7_5

B) 3043

C) 10v3

D) 10

A)

Page No. 10

32.
o

31. 22 Q.. aitf & wsh 39 & ww Tt
gme (A.f.2H) }
77
A) -
B) 70
C) 100
D) 11

e o afe TP ik
Q

TQ &% O & TF 39 W & &yl @t ¢,
[POQ =110°, dt |PTQ =

A) 60°
B) 70°
C) 80°

D) 90°

33. Had W U fog @ S 6 2T & armun

A 30 Ht. R, T 3 ofid =61 IR
30° &, dt e 1 Soré B, (ex )

i)

J3
B) 303

A)

C) 10V3

D) 10
1 PECE




34. The value of k if the points A(2, 3),
B(4, k), C(6, — 3) are collinear, is
A) 10
B) -1
C)1
D) O

35. If the points A(6, 1), B(8, 2), C(9, 4),
D(p, 3) are the vertices of a parallelogram,
taken in order, then the value of p is

A) 7
B) -7
C) 6
D) 10

36. The ratio in which the line joining the
points (5, 6) and (-1, —4) is divided by
y axis is
A) 5:1
B) 3:2
C)5:2
D)1:5

37. ABC and BDE are two equilateral
triangles such that D is the mid point
of BC. Ratio of the areas of triangles
ABC and BDE is

A) 2:1
B)1:2
C)4:1
D) 1:4

38. If the first and the last term in an A.P.
are 17 and 350 respectively and the
common difference is 9 then the number
of terms is
A) 38
B) 35
C) 30
D) 40

| D) 40
B Page No. 11

34. 7fq fag A(2, 3), B(4, k), C(6, - 3)

35.

36.

37.

38.

g &, A koM 2
A) 10

B) — 1

C) 1

D) 0

afe foig A(6, 1), B(8, 2), C(9, 4),

D(p, 3) T @aHIR Ty & v & afk
FAAE, ApH MR

A) 7

B) -7

C) 6

D) 10

faigati (5, 6) 3R (-1, —4) %) Sreramwh
Y@y 781 SR o g 3 aifer s ?
A) 5:1 '

B) 3:2

C)5:2

D) 1:5

ABC 3R BDE &t wwaTTg e 59 wor &

f% BC =1 aeafiig D ¥ | figs ABC 3k

BDE % &5%c &1 37397d 8 |
A) 2:1 |
B)1:2

C)4:1

D) 1:4

Ife ws T Aot F wem ok ifiy 1=
AT 17 3R 350 ® 3R g1 3iawa 9
8, O el ) dEn ?

A) 38

B) 35

C) 30

1 PECE
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39. Mr. A and Ms. B are friends. The

40.

41.

42.

probability that they both will have
different birthdays is (ignoring a leap
year)

L1

365

| 28

365

364

©) 365

D) 1

A)

B)

Empirical relationship between the three
measures of central tendencies is

A) 2 mean + mode = 3 median
B) median + mode = 2 mean
C) mean + 2 mode = 3 median
D) mode + mean = 2 median

A cone of height 24 cm and radius of
base 6 cm is made up of modelling
clay. A child reshapes it in the form
of a sphere. Then the radius of the
sphere is

A) 6cm

B) 8cm

C) 9cm

D) 3cm

If two cubes of volume 64 cm? are
joined end to end, then the surface
area of the resulting cuboid is

A) 128 cm?
B) 160 cm?
C) 162 cm?
D) 64 cm?

Page No. 12

39. #t A 3R F. B fim € | 37 sl

40.

41.

42.

31 219 = ITRrera & (g o Y o
=)

A) 1

365
2
365
364
©) 365
D) 1

B)

S vt it i W & sfte g
ey 3

A) 2 11T + SgoF = 3 TIfEde

B) wiferht + sigerh = 2 ey

C) T + 2 gaish = 3 Hifedsh

D) wIgeish + HIET = 2 Hifedent

whrewer figt @ 59w Wig i F9E 24
Q. st hi e . & 1w
ST 38 : TH M 1 R a1 R |
et <l oo @ ?

A) 6.1,

B) 8 4.4.

C) 9u.1.

D) 3@.4.

IfS 64 B 7.3 37aaT & 3 °A1 Y 9
# Tt @ Sig o mran @, Y aftomft vy
H IS &% 8

A) 128 @ .7t.2

B) 160 @.11.2

C) 162 a.1.2

D) 64 @ .4t.2

1 PECE
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43. (sec A +tan A) (1 -sin A) =
A) sec A
B) sin A
C) cosec A
D) cos A

44. Value of sin2 63° + sin2 27° is
A) 0
B) 1

C)

D)

N[W N|=

45. If sin 2A = 2sin A, then A =

46. If cot = 78' then the value of

(1+5sin6) (1-sing)
(1+cos6) (1-cos 0) N

64
A) /49

50
84
49
64
D) 1

B)

C)

43. (sec A +tan A) (1 —sin A) =

44,

45.

46.

Page No. 13

A) sec A
B) sin A
C) cosec A
D) cos A

sin? 63° + sin2 27° HT U ?
A) 0
B) 1

C)

D)

N[W D=

Ik sin2A =2sin AR, A=

!ﬂ%cotO:%%,a‘r

(1+5sin6) (1-sing)

(1+cos6) (1-cos®) FTHA

64
A) /a9

50

B)8—4

49
64
D) 1

C)

1 PECE



-

47. The sum of first 15 multiples of 8 is 47. 8% WoH 15 U T AT @
A) 240 A) 240
B) 960 B) 960
C) 800 C) 800
D) 690 D) 690

48. A sum of Rs. 700 is to be used to give 48. ¥. 700 it UfT Tk ferenera & frenffat =

seven cash prizes to students of a I7h Do Iuafsirat & foq g e
school for their academic excellence. T B ¥ foe w7 | AR v
If each prize is Rs. 20 less than its

NGEN | L TR 31U I TERR @ &, 20 F9 &,
preceding prize then first prize amount N £ T ar B 7
is TIH AR 1 B |
A) Rs. 140 A) % 140
B) Rs. 150 B) =. 150
C) Rs. 160 C) =. 160
D) Rs. 120 D) =. 120

49. The number of 3 digit numbers 49. i 3t A et Tt 7 @ e & 7
ivisibl .
divisible by 7 is A) 126
A) 126
B) 128

B) 128
C) 130 C)f1s0
D) 127 D) 127

50. The 20" term from the last term of the 50. y@en 3, 8, 13, ..., 253 F M g &

sequence 3, 8, 13, ...., 253 is 20a79g 8
A) 140 A) 140
B) 158 B) 158
C) 98 C) o8
D) 90 D) 90
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51.

52.

53.

54.

55.

CHEMISTRY

The process of formation of covalent
bonds with other atoms to form long
chains is called

A) Addition

B) Coordination
C) Catenation

D) Polymerisatior)

CH,COOH + C,H.OH _ X |
CH,COOC,H, + H,0; X is
A) H,SO,

B) NaOH

C) KMnO,

D) Ni

Modern periodic law is based on
A) Atomic mass

B) Mass number

C) Atomic number

D) Electronic configuration

In Mandeleev’s periodic table elements
with atomic numbers 18, 35 belongs to
which group ?

A) Group |

B) Group Ill

C) Group V

D) Group VI

The element which is electropositive
in nature
A) Sulphur
B) Silicon
C) Boron
D) Copper

51.

52.

53.

54.

55.

D) e

e g
el siEet s Y Wi FEed
A) g%
B) gw=aga
C) y@eH
D) sgeftertor

CH,COOH + C,HOH __X
CH,COOC,H, + H,0; X 8

A) H,S0,

B) NaOH

C) KMnO,

D) Ni

Y AT form W
AUTRE R |

A) T YR
B) YR @&

C) &
D)gggﬁiﬁam

deefta A aad woh § 18, 35
T 9 o e A % 8 7

A) Tz |

B) =g Il

C) a8 V

D) &g Vi

g e forren @ forga wmers @
A) T

B) freferia

C) sr=

1 PECE



-

56.

57.

58.

59.

60.

Burning of Mg in air is
A) Physical change
B) Chemical change
C) Sublimation

D) Oxidation-reduction

Reaction of marble with atmospheric
humidity and CO, to form slaked lime
is an example for

A) Decomposition reaction
B) Displacement reaction
C) Combination reaction
D) Redox reaction

A compound X reacts with CO,
present in air to form Y. Y on
decomposition produces an oxide.
The compound X is

A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

Barium can displace which element
from its sulphate ?

A) Sodium
B) Caesium
C) Aluminium
D) Hydrogen

Dissolution of glucose is
A) Endothermic reaction
B) Exothermic reaction
C) Redox reaction

D) Displacement reaction

Page No. 16

56.

57.

58.

59.

60.

AR ) BT W ST @
A) sitfee aiEdq

B) tarfes ufEda

C) 3T

D) ST=E-AYSEH

WTHOR i aRgEeea A R CO, &
Trer AfufshaT Sk T ST SaTet @
A) fsm aifvfrn =

B) fereemu arfiifsran =

C) TS Ifufsram =

D) 3tu=rig=a ffsha

& A X, ag § Iufe@ CO, & &y
Afrfsran =k Y =T @ | e & o
Y U ATFATES S0 a1 & | e X R

A) CaCoO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

afam fora T ! 3Tk Tcthe ¥ foenfia
FGHATE ?

A) wifesm

B) *fiam

C) Tegdiiem
D) ®regioM

oI ol e B
A) et rffshan
B) Ssaieasi iffsran
C) ==y fsfshan
D) fereema= stfirfsran
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61.

62.

63.

64.

65.

Water of crystallisation is not present in
A) Washing soda

B) Baking soda

C) Soda lime

D) Gypsum

Plaster of Paris is
A) CaSsO, -2H,0

B) CaSO,- ¥%.H,0

C) CaSQ, - 5H,0
D) CaSO,-H,0

Acetic acid reacts with NaOH to
produce a salt, whose pH is

A) Less than7
B) Equalto 7

C) More than 7
D) Equal to 14

The gas liberated when a metal is
treated with acid or base

A) Oxygen

B) Nitrogen
C) Chlorine
D) Hydrogen

High ductility is observed in
A) Na
B) Fe
C) Au
D) Mg
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61.

62.

63.

64.

65.

Toreeeitertor s/t o =i & |
A) gTeH gt

B) @M =1 Her (I Hier)

C) 3 T

D) foom

TR AT @ ?
A) CaSO, - 2H,0
B) CaSO, - '/zHéq
C) CaSO, - 5H,0
D) CaSO,- H,0

fufes ufirs NaOH & @ty sifufsrn =
T A9l ST 8, Freet pH @

A) 79 %H

B) 7 % SR

C) 79 3iftrs

D) 14 & TR

SIe g I 3T T &I & T § @H W
g Fehere ®

A) it

B) EgeH

C) Far=

D) wTEgSH

A IoT q=IaT 1S et R |
A) Na
B) Fe
C) Au
D) Mg
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66.

67.

68.

69.

70.

Metal which is found in its native state
A) Pt
B) Cu
C) Fe
D) Ag

When brass.is exposed to air for a
long period of time it turns to green
due to the

A) Formation of Cu(OH),
B) Formation of CuSO,
C) Formation of CuCO,
D) Formation of Cu,0

Alloy used for welding purpose
consists of

A) Lead and Tin

B) Lead and Bismuth
C) Lead and Antimony
D) Lead and Copper

Liquid non-metal among the following
A) Br

B) Te

C) Hg

D) I

Brass is the alloy of
A) Cu and Sn

B) Niand Cr

C) Cuand Zn

D) Pb and Sn
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66.

67.

68.

69.

70.

T8 UTg A AT Y ¥ = e & |
A) Pt
B) Cu
C) Fe
D) Ag

e fiqet I e g9 & e ag & qush
@ aareg, AW F
0T E AR |

A) Cu(OH), &

B) CuSO, s

C) CuCO,sR

D) Cu,0 &R

TS % T SR < STaTelt s @
A) drar 3 &

B) dtar i oy

C) drar aiR ufenst

D) drar 3k ain

Frfafaa # @ @ orurg @
A) Br

B) Te

C) Hg

D) I

fiae 6 frsreng & 1
A) Cu 3 Sn
B) Ni 3R Cr
C) Cu3ftzn
D) Pb 3f Sn
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71.

72.

73.

74,

75.

Kurkure packet's empty space is filled
with an inert gas, inorder to prevent it
from

A) Reduction

B) Oxidation

C) Oxidation-reduction
D) Precipitation

Transparent photographic films
gradually change their colour when
exposed to light due to

A) Combination reaction
B) Thermal decomposition
C) Oxidation reaction

D) Displacement reaction

Aluminium when exposed to O,
atmosphere, formation of AL,O, is
observed. It is

A) Corrosion

B) Rusting

C) Decomposition
D) Rancidity

When blue coloured CuSO, crystals
is heated, it gives a white amorphous
solid. This white solid is

A) CuSO, - H,0
B) CuSO,

C) CuO

D) CuCO,

Colour of phenolphthalein in acidic
medium

A) Pink

B) Yellow

C) Colourless
D) Orange
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71.

72.

73.

74.

75.

TG > Ype W i wm o AR e g
W1 {11 8, 98 39 AU &
R s ® |

A) J9=TT

B) 9=

C) ST~

D) sragu

TehTYT & Gk § 31 | IRES wlnie
a1 T -t qfafda & s @ )
W_ e

A) warsH arffsean

B) ey farnsm

C) 3Iv=aa fsifsran

D) foreermam safirfsran

TegHifem O, % arpise & wush # oA
F R ALO, SR 1 98 ]

A) dERT

B) SFT &1

C) ferem

D) =@ g

S it T % CuSO, foreat it fema
ST @ O O U @R 3 e R |

TR 3T §

A) CuSO, - H,0
B) CuSO,

C) CuO

D) CuCO,

ety e ¥ feTefitm s R
A) Tt
B) e
C) TréH
D) wrht
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76.

77.

78.

79.

80.

Second highest electronegative
element in periodic table

A) Fluorine
B) Chiorine
C) Oxygen
D) Nitrogen

The element with half filled outermost
electronic configuration

A) Aluminium
B) Magnesium
C) Boron

D) Nitrogen

The order of effective nuclear charge is
A) Li<cNa<K<Rb
B) Li>Na>K>Rb
C) LicK<Na<Rb
D) Li<Rb< K< Na

Triad among the following is
A) H,F, Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH is stronger base than LiOH. The
reason is

A) Liis highly reactive

B) Atomic size of Li is less
C) Kis highly reactive

D) Atomic size of K is more
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76.

77.

78.

79.

80.

3T gt =t e S<aan fega v
Lichd

A) TR

= ESLE]

C) Tt

D) TregreH

a1 qfta STRIaH SR e Ty aen
T ?

A) IS

B) #+ifrm

C) sitH

D) TsgeH

TS HEh AT T FH ©
A) Li<Na<K<Rb
B) Li>Na>K>Rb
C) LicK<Na<Rb
D) Li<Rb<K<Na

FeafRaad @ =i ?
A) H, F, Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH, LiOH # ardan wifsmelt &R 2,
THHT HR ]

A) Li evea SAfifsramsfiat @

B) Li %1 WRHTY] 3THR H4 8

C) K area atfrfsmmsefier 8

D) K T THTY] TR e &
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81.

82.

83.

84.

85.

Hydrolysis of an Ester in presence of
alkali is called

A) Esterification
B) Saponification
C) Substitution
D) Addition

Vegetable oils usually contain
A) Unsaturated fatty acids

B) Carboxylic acids

C) Saturated fatty acids

D) Glacial acetic acid

Hard water forms scum with soap,
due to the presence of

A) CH,COOH
B) NaOH

C) Ca(OH),
D) CaCl,

Hydrophobic end of micelle is soluble
in hydrocarbon because it is

A) Non-polar
B) Polar
C) lonic
D) Covalent

Compound which does not belong to
the homologous series

A) CH,0
B) CH,,0
C) C,HO
D) C,H,0
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81.

82.

83.

84.

85.

ATched! ht Iafefer o weh et 1 wefla-
LA FHEATal 8
A) TEHT

B) wrg-taor
C) wfereermo=
D) Gehe

TG A § FrETI: BT @
A) STEqE 9T I

B) whTslifaafeTeh 3TFa

C) g 9T o7

D) wiftre wfufes ona

TR U WIS 3 | T S g,
I8 FHAE |

A) CH,COOH

B) NaOH

C) Ca(OH),

D) CaCl,

e =1 swferie 37 BTggEy o
REERISEERIEE
A) g ®

B) gag
C) saf®

D) eS8

3 i < Tt e ® 79 o
A) CH,0

B) C,H,,0

C) C,HO

D) C,H,0
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87.

88.

89.

90.

Colour of Taj Mahal in Agra is
changed due to

A) Sunlight
B) Acid rain
C) Slaked lime

D) Corrosion

Antacids are used to remove
A) Body pain

B) Acidity

C) Basicity

D) Headache

Chemical compound present in tooth
paste is

A) Basic — Ca,(PO,),
B) Acidic — Ca,(PO,),
C) Basic — Ca(HCO,),
D) Salt-Ca,P,

pH of orange juice is
A) 2.00-2.35

B) 3.12-3.33

C) 3.00-3.75

D) 3.3-4.19

Acid which helps for the digestion is
A) Amino acid

B) Hydrochloric acid

C) Acetic acid

D) Citric acid
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87.

88.

89.

90.

PR & dISHEA 1 T &
o gRafda S T R |

A) g4
B) anast

C) =
D) |&wT

gfeer
JIF B |
A) TR A &
B) srftardl
C) snfzan
D) fmed
SaveH § TR TErEfeE 9 8
A) @i - Ca,(PO,),

B) 3r=fia — Ca,(PO,),

C) & — Ca(HCO,),

D) s - Ca,P,

I 8EM o feTT

areft s @ pH B
A) 2.00 - 2.35
B) 3.12 - 3.33
C) 3.00 —3.75
D) 3.3-4.19

g 3 7eg A ST I §
A) Y 3T

B) TGN

C) fafes orai

D) faldes v
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92.

93.

94.

95.

Method used to prevent the corrosion
of Aluminium

A) Galvanisation

B) Anodizing

C) Tinning

D) Cathodic Protection

Metal ‘A’ reacts with dil. HNO, and
liberates hydrogen. A is

A) Mg
B) Ag
C) Cu
D) Au

The metal which is highly reactive
A) Hg
B) Zn
C) Pb
D) Al

Among the following the Polar
compound is

A) Kerosene
B) Alcohol

C) Benzene
D) Gasoline

Metals can be extracted easily and
economically from

A) Mineral

B) Metallic compound
C) Ore

D) Rock
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91.

92.

93.

94.

95.

TR 3 TEAROT i Tehe & foTT Sge
&t ST areft faftr 8

A) Teadieor

B) g

C) e i wa =g

D) fegrdeato

uTg ‘A’ &g HNO, % drer stffshan eregiee
SYR AN IAS

A) Mg

B) Ag

C) Cu

D) Au

e uTg S T AfusRaTie 3

A) Hg

B) Zn

C) Pb THE
D) Al

frafafea @ @ gda Afw 3
A) FR=

B) 3Tehieial

C) ssfH

D) &iet
Tt 1 s & e
Y T3 ST ThaT § |
A) @
B) wife difis
C) &
D) =g
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96. Allotrope of carbon which posses high
melting point

A) Graphite
B) Fullerene
C) Coke

D) Diamond

97. The compound gives a sooty flame on
burning

A) CH,
B) C,H,
C) C,H,
D) C,H,

98. Addition of hydrogen to alkene in
presence of nickel catalyst is

A) Reduction

B) Oxidation

C) Addition and Elimination
D) Substitution

99. A compound ‘A’ with formula C,H,O
possess two structural isomers.
On Oxidation it produces an acid.
Compound A is

A) 1-Propanal
B) 2-Propanone
C) 1-Propanol
D) 2-Propanal

100. Poisonous organic compound present

in denatured rectified spirit is
A) Ethyl alcohol

B) Methyl alcohol

C) Ethanoic acid

D) Formic acid

96.

97.

98.

99.

100.
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SHTelA T JTGEY T Io TTeis &
A) TTHTEE

B) W=

C) #1%

D) &

g ik ST STer T O i ATl SaT 8
A) CH,
B) C,H,
C) C,H,
D) C,H,

Frerct 3T Y Sufeyfy of srehi o
BIESISH foer : 21
A) =T

B) 3u=rH

C) e 3R farertor

D) wftreama

T Afire ‘A’ s g3 C,H,0 3, 38
T LTS QAT & | 3T WIE 0
I ST ® | Mfw AR

A) 1-S0=e

B) 2-MUA

C) 1-ATa

D) 2-W-e

frepa uiweifee faufe o sufén frden
Sferen A B
A) 3UTS STeRIETS
B) firerse stehieiat
C) 3315 o
D) wiffe a3
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101.

102.

103.

104.

PHYSICS

If refractive index of water with respect
to air is % then refractive index of air
with respect to water is

A) 4x3

B) 3

4

4
C)\/;
3
D)\E

A person requires a lens of power
—0.50D so where is his far point ?
A) 05m

B) 4m

C)2m

D) Im
4

Near point of an eye suffering from
long sightedness is

A) 25 cm

B) <25cm

C) >25cm

D) atinfinity

When 1J of work is done in moving a

charge of 1 coulomb from one point A

to another point B in a electric circuit,

then it refers to the following

A) 1 ampere current between point A
and B

B) 1V of potential difference between
point A and B

C) 1.6 x-10~'® coloumb of charge
between point A and B

D) None of the above
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101.

102.
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104.

wifes forsm

wﬁmg#aaaﬂwwﬁﬁsg%nﬁaa
¥ ATY HT TS &

A) 4x3

B) 3
)4
4
C)\/g
3
D)J;

& Afqq H —0.50D wied & < H
HIETIHAT 8, T o gy g Fai 2 7
A) 0.5,

B) 4.

C) 2+t.

D) %rﬁ.

TGIReRy Ul o o T P Ry

A) 25 .1, |

B) <25 4.4,

C) >2538.1.

D) 3Fd W

T forga wfdhe W 1 o v o foig A

YfRgBTm AT 1UFRE ST e, di e

frmfafea @ wafifa 3 |

A) foig A 3t B & sfter 1 Qfiert forege e

B) foig A 3R B & sffw 1V &1 fvraian

C) fig A 3t B & i@ 1.6 x 10~ Foiw
HT QAN

D) Suda & & S e
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105. V-1 graph of experiments on series
and parallel combinations of two given
resistors R, and R, shown below.

T’F

\" paralle!

series

v

I —

Fig. (i)

/ ﬁ paralle!

series

—_—

~
>

Yo
Fig. (ii)
Which graph is/are correctly labeled ?
A) Only Fig. (i)
B) Only Fig. (ii)
C) Both Fig. (i) and Fig. (ii)
D) None of the above

106. In the given circuit diagram, reading in
the voltmeter is

10V

"

| - <

2Q 4Q 6Q 7

L MA___WA MA___
A) 12V
B) 10V
C)5V

D) 0.833V

D) 0.833V
B Page No. 26

105. feu e fotius R, 3ft R, & sywen afk
AN SASHT T ST 7 V-| 7% A9
fe@rn T & |

y

S~
-

THI (ii)
FH-91 U6 T RfRa g 7
A) et STTF (i)
B) harel TTf (ii)
C) < 3Tt (i) 3f 2mafe (i)
D) Sugea & & =g et

106. 3w Ty afhe smta §, Fieeriet gry g
11'5‘1?@1% 10v

20 40 6Q %\?
L M MW\_ M\

A) 12V
B) 10V
C) 5V
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107.

108.

109.

110.

An electric fuse is based on

A) The chemical effect of the current.
B) The magnetic effect of the current
C) The heating effect of the current
D) None of the above

The purpose of glass cover on top of
a box type solar cooker is to

A) Allow one to see the food being
cooked

B) Allow more sunlight into box
C) Prevent dust from entering box
D) Reduce heat loss by radiation

To work properly, wind-electric
generators used wind speeds of
atleast about

A) 1.5 km/h
B) 15 km/h
C) 150 km/h
D) 1500 km/h

Which energy from the following are
derived from the sun ?

i. Nuclear energy

ii. Wind energy

iii. Biomass energy

iv. Ocean thermal energy
A) ii and iii

B) i, iii and iv

D) i and iii
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107.
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109.

110.

o frga W emmuia @

A) Tergauma & TEmEiAE T8 W
B) frgauma & geshia yoE ®
C) ferauma & F=ffg yu@ w
D) Iwe & @ +IE T

T S YR & TR Foh & Y W i

& AT 1 IR B

A) T % I gT @ % fore

B) e # 31feres Wt wenTer s & g

C) sitem & g w1 & U & fo1w

D) fafeor grr S 1 <88 F9 FA 5
fag

it wife sl & o fore, waa - o
AT T  yg T
TANT A & |

A) 1.5 f&.Ht. /e

B) 15 .. /o

C) 150 f&.4t. /e

D) 1500 f.4, /==

FrafaRaa # @ -t swit g @ off

STt 2 ?

i. R St

ii. Tae St

iii. TR St

iv. GPR S Sl

A) i 3 iii

B) i, iii 3 iv

C) iv, ii, iii

D) i 37T ii
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111.

112.

113.

In a small electric plant at your home,
45 kJ energy is generated. Then how
long you can power a incandescent
bulb of 45W approximately ?

A) 45 min.
B) 16.67 min.
C) 20.25 min.
D) 45 sec.

A student obtained following graph :

|
M-
ma) 27772 o
1 | { |
] | 1
2 4 6 8
V(Volty —
S0 resistance of resistor is
A 2Q
B) 2kQ
C)o2Q
D) 20Q

Which one of the following is not true
about properties of magnetic field
lines ?

A) They come out from north pole and
go into south pole

B) They form closed loops

C) They intersect when two magnets
are kept

D) They are closely spaced in the
region of strong magnetic field

111.

112.

113.
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A9 W H T BN faga g A 45 kJ
Fetl IcaTiea Bt § | ) 39 TH 45W H
AR sosy T fohet 3 e TR R 7
A) 45 fufte
B) 16.67 fafie
C) 20.25 fufie
D) 45 9%s
& foreneff %) frferRaa o fireren @
) 7]
w0 L) T
(mIA)f _____ o
| | |
| | i |
2 4 6 8
V (Fee) ——
Al feriers =1 wfekiy &
A) 2Q
B) 2 kQ
C) 0.2Q
D) 20 Q
qehrg &7 @isil & ueEl % g9y §

frfafea § @ F-wr o 7 2 ?

A) 3 370 ga @ fierea € ok et ga &
T &

B) 3 &g 9Ty s &

C) S« 31 o T T & Y & wherede
A &

D) o wifermedt Jacha & & sga vr-wr
ec AR

1 PECE



B

114,

115.

116.

117.

Select correct option from the following
about, nature and distance of the image
formed by plane mirror.

A) Real, inverted and at the same
distance as object in front of the
mirror

B) Virtual, erect and at the same distance
as object behind the plane mirror

C) Virtual, erect and at a distance
smaller than the object distance
behind the plane mirror

D) Virtual, erect and at a distance larger
than the object distance behind the
- plane mirror

To get virtual image of an object by a
concave, the object should be placed at

A) Centre of the curvature

B) Between centre of curvature and
principle focus

C) Principle focus
D) Between principle focus and pole

To get powerful parallel beam of light,
head light of vehicles have

A) Concave lens

B) Concave mirror .
C) Convex lens

D) Plane mirror

What type of mirror is used to get
virtual and erect image always ?

A) Plane mirror

B) Convex mirror

C) Concave mirror
D) Both A) and B)
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117.

e gdur gr fAfda wfafere & wefa o

0 & gay ¥ fefafed 3 @ a1 fasweq

gHT |

A) areafas, Ieer 3R g & auy ag A
& g g W

B) ITTuTHY, Tiem 3T GHaw qvT & 410 9%
il gt % T g |

C) v, T 3R aHaw guvr & N8 a%g
HFPaF P

D) e, e SR auae g9vr o 1S I
i gl @ A g W

Teh e g U g 1 Tt wfdfee
ITod = o fore aeg et B
=MRT |

A) Fghdl g W

B) =ghar g 31 I Hishd & ot

C) T& HiFd W

D) & %Iy 3R gd o sfi

TehIST S IR ST FRRUTgST STed &
Fhmasifizeaed . d@R
A) T 99

B) 3tadaet g4ur

C) 39 gqur

D) |Hae gqur

Teg vt R e wfafde w0 &
foru form wepR <At T ST W AR ST E ?
A) Tuae g4
B) 3det uuT
C) 3taad g4ur
D) A) 3k B) 2l
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118.

119.

120.

In an experiment, a current carrying
conductor is kept parallel to the
magnetic needle on a.compass. If the
direction of the current is from south
to north then,

A) North pole of the needle turns
towards west

B) South pole turns toward west
C) Needle does not move
D) North pole turns towards east

For a long, straight current carrying
wire, the strength of the magnetic field

I. is depend on nature of material of
wire
Il. is directly proportional to current

IH. is inversely proportional to
distance

A) | and lll are correct
B) | and Il are correct

C) Il and lil are correct
D) All are correct

The direction of the force on a current
carrying wire placed in a magnetic
field depends on

A) The direction of the current but not
on the direction of the field

B) The direction of the field but not on
the direction of current

C) The direction of the current as well
as the direction of the field

D) Neither the direction of the current

nor the direction of the field faam

118.

119.

120.

T RN H, U fRaem aress =1 o O
HYE T Geh G % GHHIOR W@l 1T & |
T2 fergaema i fawm afdor & s R, A

A) TE &1 3T ga ufvem it s gs

SR |

B) f&ur ga ufvew i AR g a1 § |

C) g8 i Jewt |

D) 390 ga & it MG A 2 |

% o, € fagaares ar & gesha &
EIRIES]

|. aR % gerd Y Fopfd WIARFA R |

lI. fergaema & Jeres SETgaTd © |
1. g & wfcrerst T @ |

A) | adt &
B) |3t I adt &
C) 3R Inah &
D) weft wdt &

T g &7 | W@ Y fgaarssd ar W

o <t fsft Fcft @

A) fergaem i femm w Afer &= i femm
WA

B) &3 i fan R aferd forgaema it fawm
WA

C) feregaumar ht fawm & e -wme & i i
W

D) 7 & fregaem i fexm w ok 7 & &= i
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121.

122.

123.

124.

From the following phenomenon, which
one cannot be explained by assuming
light always travels in straight line ?

A) Refraction

B) Reflection

C) Diffraction

D) Transmission

Image formed by plane mirror,
I. Double the size of the object
Il. Half the size of the object
lIl. Same as the size of the object
IV. Laterally inverted
A) lis true
B) Il and IV are true

C) Il and IV are true
D) All are wrong

What is the nature of the image
obtained from surface of the spoon
bulged outward and to what type
mirror we can approximate it to ?

A) Inverted and concave mirror
B) Inverted and convex mirror
C) Erect and convex mirror

D) Erect and concave mirror

An object is kept at infinite distance,
produces a bright and sharp image
on the screen kept at a distance ‘x’
in front of concave mirror, then X' is
equal to

A) Radius of curvature

B) Twice of the focal length

C) Focal length of the mirror

D) Object distance

121.

122

123.

124.

D) ag R g

Frafafea wiaemed & 3 97— =
FH ATURIT & 91 & A 91 gt 7
RIS ded Tl Tar & Serr g ?

A) HqEds

B) Qe

C) famda

D) wron

A Y0 FRT ST T SR
|. 9% % TR A ET BN
II. & % STTHR T 74T B
IN. T % MHR F TR ITHR FT 8
IV. areffa Seer -
A) g3
B) Il 3R IV v &
C) lli 3R IV gy &
D) usft are &

Y o ST AN IW g IS F W
siafe $t wpla T avft ok 3@ B
TR o 34T 3 e AT ST Wear @ 7
A) I 3R Mgas g

B) 3cer 3R Iue adur

C) dierm 3iR 3w ador

D) Hrur 3iR raqe gdur

1A T W Tl g8 U g sraae 0 %
THE X’ Gl W T T WU e 3R A
i STt 8, @ o s R

A) Tgrar i B

B) W g & g

C) =dor ht wiwra gl
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125.

126.

127.

128.

If magnification m = +1.5, then

A) Size of the image = size of the object,
real image

B) Size of the image > size of the object,
real image

C) Size of the object > size of the
image, virtual image

D) Size of the object is twice the size
~ of the image, virtual image

A pencil partially immersed in water
appears to be displaced at the interface
of air and water, this is due to

A) Tyndall effect
B) Scattering
C) Dispersion
D) Refraction

Arrange following in increasing order
of their absolute refractive index.

A) Water, kerosene, glass, diamond
B) Kerosene, water, glass, diamond
C) Glass, kerosene, water, diamond

D) Water, glass, kerosene, diamond

How power of the lens is related to
focal length of the lens ?

A) Directly proportional to f
B) Directly proportional to %

C) Directly proportional to Ji

D) Directly proportional to flz
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125.

126.

127.

128.

R IEF m=+1.58, A
A) widfer 1 SFR = TEY H AR,

D) s%g %1 MR feifera & TR & SN,
et wfafers

e H TifNTE ®Y & ot T S g el
Vel o 1Y R ferefia wiva Bt 2,
I fohash 0T R ?

A) et g

B) wehivlq

C) faau

D) TusreH

fafeiaa = 37% ot e & wgd
%9 H =gafera fifv |

A) S, FH, HiE, €

B) ¥, S, i, &0

C) =g, HAHH, e, T

D) Wi, e, U, €

< st wifT o ot Wi g @ R TR
et g ?
A) {8 TeaE quTgaTet
B)%%umawmmﬁ
C) I ¥ weaer gurguTh
m-%ﬁumawmmﬁ
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129.

130.

131.

132.

According to Ohm's law, V = IR
A) VaR
B) laR

1
C) Vo=
) Vao

D) Val

On which of the following factors
resistance of the wire depends ?

A) Area of the cross section
B) Length

C) Temperature

D) All of the above

Device used to regulate the current in
a electric circuit is

A) Transformer
B) Voltmeter
C) Rheostat

D) Galvanometer

Across a metallic conductor of non-
uniform cross-section, a constant
potential difference is applied. The
quantity which remains constant along
the conductor is

A) Current

B) Resistance

C) Electric field
D) Current density

129. 3itgw & faw & I1gER, V = IR
A) VaR
B) la R

1
C) Va—
) Vag

D) Val

130. dR = gfoty FAmfafaa d A fre R w
folkw@rg ? '

A) FITE FIE HT FIHA
B) wes
C) a9u™

D) Suger axft

131. T farga wfhe @ Rrgaam = Fafia wa@ y
& fore wT femar ST e S R i

A) Itz {
B) dieeHict '
C) ur fAueh
D) iR

132, 3TEHT FIIEY I & T YT T W
s R fvarie ermen 'R | el =T
# 5t 7e R war @

A) fergaema
B) wfoig
C) faga &=

| D) fargauwr w=ea
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133. What is the colour of sky viewed from

134.

135.

136.

surface of the moon ?
A) Red

B) Blue

C) White

D) Black

An object of -5 cm in size is placed
at a distance of 20 cm from concave
mirror of focal length 15 cm, what is
the nature of the image ?

A) Real, inverted, enlarged

B) Real, erect, diminished

C) Virtual, inverted, diminished
D) Virtual, erect, diminished

A light of wavelength 750 nm in air
enters glass slab of refractive index
1.5. The change in wavelength of light
is approximately

A) 500 nm
B) 250 nm
C) 750 nm
D) 1250 nm

There are two lenses. One is convex
of focal length 20 cm and another is
concave of focal length 25 cm. What
is focal length of the combination ?

133.

134.

- 135.

136.

HEHT o ae § @A T AT 1 1
e !

A) a

B) e

C) wWd

D) e

15 4.1, Bl T A rFaa 90 @
20 9.3, A g w 5 &. 4. i F=rE et
T ag W@l B, viifee i ywfa mn R ?
A) arfa, 32T, 98

B) arxifass, Hiwn, Ser

C) i, Iee, Biet

D) s, diem, St

g § 750 Wi qUiesdar aren
YIS 1.5 AT 9t hid i ©e 8
YA AT & | TehieT <hl qlesiar & e
IiEd @

A) 500 AHirtex

B) 250 A

C) 750 et

D) 1250 "= ifiex

3 &9 | T 20 AT, Fi wiww @ @
I & 3R gEU 25 Q.. A wiwE g &
A & | 39 HASH o iy gl e
aft ?

A) 0.01cm A) 0.01 3.1
B) 100 cm B) 100 & ..
C) 10cm C) 10a.1.
D) 1cm D) 1%,
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137. How many 400 Q resistors are required 137.

to carry 5 ampere of current connected
to 200 V line 2

A) 20
B) 5
C) 1
‘D) 10

138. Express which of the following setups 138.
can be used to verify Ohm’s law.

= 1.

¥
:

S

M
l
—@—L |

— O
D)
%\@L e

| i e L Ea s NI
[ R S

200 VA 1T A2 5 Ui frggaumr
e % 9T 400 O F e shides
$ STTevIHaT Bnft ?

A) 20
B) 5
@) 1]
D) 10

quTizy foh, 3EH % fm & e & Ry
ﬁmﬁfﬁqaﬁﬁaﬁw—a“rm@nmﬁm
qehdr g ?

_ —®—
e 1
i

B)

P ®-
0 %

|LE L]
P
0 3 :

e
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139.

140.

141.

142.

A wire of resistance 8 ohm is bent in
the form of a closed circle. What is the
effective resistance between point A
and B ?

B

90°

Z
o)

L
O

Qo
MlwwldH MW Wi

©

A=
o)

An electric heater is rated at 1 kW.

139. 8 3iied Yfeliy I Teh aR ! HIgH Th

140.

s eI T ? | g AR B & o
wurht gfeg T g ?
E

90°

A)EQ
3
3
EQ

c) 4o
3

B)

D) 3a
4

T forga @it 1 kW witan T @ | wfd

Calculate the heat produced per hour. 527 Searfed ST S TORT #L |

A) 1000J A) 1000 J

B) 3600 J B) 3600 J

C) 3600 x 103J C) 3600 x 10°J

D) 60 J ) D) 60J

S. 1. unit of resistivity 141. vfetepar 1 S. |. 3915 8

A) ampere A) TdRR

B) coulomb B) Tia

C) ohm C) 3igw

D) ohm meter D) 3frgH et

Two heaters A and B, rated 200W at | 142. A 3R B2l €2t sHsI: 220V T 200W 3R

220V and 40W at 220V respectively, are 220V W 40W 11T 7T § 3K 9 220V

cc:;orlmelctted in patrzllel to bzzgv tsupgly. YR & T A S M E | G B 3/
alculate current drawn by heater B. A

A) 0.64 A mﬁaﬁﬁgﬁwmﬁmﬁ|

B) 0.91A B) 0.91 A

C) 0.182 A C) 0.182 A

D)1A D) 1A
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143.

145.

146.

~ 147.

Power of the lens suggested by
ophthalmologist is +2.5D, then

A) f=2.5cm, convex lens
B) f=40cm, concave lens
C) f=40cm, convex lens
D) f=2.5cm, concave lens

. The amount of light entering the

human eye is controlled by
A) lIris

B) Cornea

C) Retina

D) Pupil

The eye defect in which far point shift
nearer than infinity is

A) Farsightedness
B) Cataract

C) Short sightedness
D) Presbyopia

A person holds newspaper far from
his eyes to read it comfortably, then
he has

A) Cataract

B) Presbyopia
C) Hypermetropia
D) Myopia

In dispersion of white light through
glass prism, itiis observed that violet
colour bends more and red colour
bends less, then

A) Wavelength of all colours same
B) A'violet 2 }\'red
Cyr >A,

red violet

D) Bending does not depend on
~ Wavelength

143. 37 foeivg g S AN iR +2.5D ward

144.

145.

146.

147.
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TR, @

A) f=258.1., 39 9
B) f =40 8.7, faqd o
C) f=403q.1., IJaa i

D) f=2.5%.%., 3/add o9

UHE A 8 T3 T STt JHIS S qrn

ERRERIECAIGIE S
A) gftarfem
B) Yaaued

C) gxiued
D) At@ ! gaeit

I 3 i foremt qewr fig ora @ fene
3T ST ®

A) ggfed
B) mifeanfee
C) fishe gfediy
D) SRigghe

Toh HfeR] TUTEIRY h) TEsian & 9e & frg
G W@ UGATy, AW R
A) mifeanfee

B) St g

C) Ty

D) fiehe gfeam

i % fISH o ATew & Y9 WehnT o faur
¥ e wran s € o St o1 ovite e
2 3R ATl U1 9 qear 8, @
A) Gt T it qorewiar aE @
B) A > Ay
C) A >y
D) Y& qutewtar W it 7 s
1 PECE



148. In the circuit below, the ammeter and
the voltmeter reading are 6A and

12V respectively, then the value of
resistance R is

A) >20
B) =2Q
C) 2Q

D) <2Q

149. In a conductor, 1500 coulombs of
charges enter and 1500 coulombs of
charges exit in 5 min, then current is

A) 300 ampere
B) 5 ampere
C) zero

D) 1 ampere

150. Two wires of same material having
length and radii in the ratio 3 : 4 and
3:2 respectively, are connected in
parallel with a battery of 6V, the ratio
of currents is
A)1:3
B) 3:1
C)1:2
D) 2:1

148.

149.

150.

i fow T afe &, sritex okt Sieerier
ERUEA IDTRIER 1o do 0 b BA 3R 12V §,
@ gy R 1o @

e o
Lo et e |

A) >2Q
B) >2Q
C) 2Q

D) <2Q

T = d, 5 fme § 1500 Few %
AT T & 3R 1500 Feie o s
frerera &, ot e 2

A) 300 TR

B) 5 udh

C) I3

D) 1t

T vere % 3 TR Rrereht s afk R
I I HHM: 3 : 4 IR 3 2 ¢ a3k
e 6V i T el § wmie ¥ 2 &,
ferggaarrait st orquma @

A)1:3

B) 3:1

C)1:2

D) 2:1
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Answer Key for 1 PECE (Set-B)

Q. No, | Answer Key | Q. No. | Answer Key Q. No. | Answer Key
1 A 51 C 101 B
2 D 52 A 102 C
3 A 53 C 103 C
4 D 54 D 104 B
5 B 56 D 105 C
6 C %6 | B 106 C
7 C 57 C 107 C
8 A 58 B D 108 D
9 B 59 A 109 B
10 A 60 A 110 C
11 B 61 B 111 B
12 B 62 B 112 B
13 A 63 C 113 C
14 B 64 D 114 B
15 B 65 C 115 D
16 C 66 D 116 B
17 A 67 C 117 D
18 C 68 A 118 A
19 B 69 A 119 C

20 A 70 C 120 C
21 B 71 B 121 C
22 B 72 B 122 C
23 C 73 A 123 C
24 B 74 B 124 C
25 A 75 C 125 B
26 B 76 C 126 D
27 C 77 D 127 A
28 B 78 B 128 B
29 A 79 D 129 D
30 A 80 D 130 D
31 A 81 B 131 C
32 B 82 A 132 A
33 C 83 D 133 D
34 D 84 A 134 A
35 A 85 B 135 B
36 A 86 B 136 B
37 C 87 B 137 D
38 A 88 A 138 A
39 C 89 D 139 B
40 A 90 B 140 C
41 A 91 B 141 D
42 B 92 A 142 C
43 D 93 D 143 C
44 B 94 B 144 D
45 A 95 C 145 C
46 C 96 D 146 C
47 B 97 D 147 C
48 C 98 A 148 C
49 B 99 C 149 B
50 B 100 B 150 B




